
Unit 6 – Project 3 – Progress check 

Pozn.: V závorkách jsou další přípustná řešení.  

Ex. 1:  

2 He had a toothache. 

3 He felt sick. (He had a stomach ache./ He had a stomach bug.) 

4 She had a cold (flu).  

5 She had a sore throat (tonsilitis). 

6 He had a headache. 

 

Ex. 2: 

2 don’t have to 

3 mustn’t 

4 don’t have to 

5 mustn’t 

6 don’t have to 

7 must 

8 mustn’t 

Ex. 4 :  

1 is painful ; go to the doctor’s 

2 matter; a stomach ache; eat so quickly 

3 wrong; to be late for school; get up earlier 

 

Ex. 5  

2 out 

3 down 

4 off 

5 round 

6 up 

7 out 

8 on 


